ER28EE FIRAKREEE
B -FIAESE (1)
TB- - FIHE (%)
4R 58 6R 7R 8A 9A 10A 1A 12A 1R 2R 3A| & &t
F FHRTAE R £k ([A]) 540| 558 540 558 504 540 558 540 504| 504| 504 501 6, 351
- 61 58 61| 62| 42 54 60 62 57 59 63 30| 669 [H]
KEE
67.8) 62.4| 67.8| 66.7| 50.0| 60.0 64.5 68.9/ 67.9 70.2 75.0 83.3 66.2 %
P —— 7 2 6
wEEEE 1 2 6 7 2 5 4 3 5 50 [HA]
1.1 2.2 6.7 7.5 2.4 56 4.3 3.3 6.0 83 2.4 6.5 4.7 %
P 54 42 59 52 39 56 46 42 41 41| 46| 54| 572 [A°]
%Ki
60.0| 45.2| 65.6| 55.9  46.4 62.2 49.5 46.7 48.8 48.8| 54.8| 58.1 53.6 %
e i 60 57 61 71 57 70 65 65 58 46| 62 63| 735 [H]
E’:’?&%
66.7 61.3| 67.8] 76.3| 67.9| 77.8| 69.9 72.2| 69.0 54.8 73.8 67.7 68.8 %
5 — T 13 17 16 14 11 13 23 14 12 11 11 15 170 [=]
14.4) 18.3) 17.8 15.1 13.1 14.4 24.7 15.6/ 14.3] 13.1| 13.1] 16.1 15.9 %
e — 34 32 34
wme (gm) 30 33 29 36 32 27 29 30 34 380 [H]
33.3 35.5 32.2 38.7 38.1 30.0 31.2| 33.3 40.5 40.5 38.1 36.6 35.9 %
& st 219 209 232 242 183 225 227 216 207 198 216/ 204| 2,576 [A]
40.6| 37.5| 43.0| 43.4| 36.3| 41.7| 40.7 40.0/ 41.1 39.3 42.9 40.7 40.6 %
1, BOBEE K (B) 30 31 30 31 28 30 31 30 28 28 28 31 356 H
FIARIRER 2 (B) 180 186 180 186 168 180 186 180 168 168 168 167 2,117 H
* FHAREE S = 1 » A OBAfE H 4K X | X X4 (i, Tk, &R
(& — FAfE B £0 (6=) (3 X47)
*FHAFRERE =1 » A OBHAF A X =
(& — FAfE B0 (6=)
kIRBRERAMNEE LD, TRk 2 93 H 1 3 H XV IKFREORHEEL, (1 9 HIE)




